HARDY

5051# S60-FA408 1SR /JED7I88

Facing Spindle Head Unit-Servo Type

RAE Model S60-A2-4
R=ER Max. RPM 1600
57 Horsepower 2HPx4P
T Spindle Pulley 8M-60T
Fahah Spindle Bearing géggﬁ ; g;ﬂéﬁ
USSR R PR i Bearing of Ballscrew Bearing Block 7204x2
R AR 7 S Seal of Ballscrew Bearing Block TC26-42-8x2
R R 5 Bearing of Facing Head 7204x4
RJJEER Single-Slide Facing Head Model FA-408
RIEEBREE T Facing Head Slider Stroke 8 mm

Roundness: =0.003mm

Slider Self-Repeatability: =0.005mm (FBJJ33FEEEEN)

S60-A2-4(fEJ]-FA-408)

| 28 [ weight |

kgl

122 4 6- 10,3528,
5 M12x1. 75K 5 25;

4-¢ 1888,
40}

BEERSE
ECMA CX0807

792

S60-A2-4(FJJ-FA-408)-MB

[ =8 [ weignt |

kgl

49,
4-¢ 18§EIE,
M20x2. 5B 40

EEERESE
ECMA CX0807




5052# SR60-FA408 BAREIEN7I5E

Facing Spindle Head Unit-Servo Type

RE Model SR60-A2-4
R=ER Max. RPM 1600
57 Horsepower 2HPx4P
T Spindle Pulley 8M-60T
FEha Spindle Bearing gggﬁ ; g;ﬂé’;i
USSR A PR i Bearing of Ballscrew Bearing Block 7204x2
R AR S Seal of Ballscrew Bearing Block TC26-42-8x2
R R 5 Bearing of Facing Head 7204x4
R/JEE Single-Slide Facing Head Model FA-408
RIEEBREE T Facing Head Slider Stroke 8 mm

Roundness: =0.003mm

Slider Self-Repeatability: =0.005mm (FBJJ33REEEEN)

SR60-Az-4 (8 J-FA-408)
[ 28 [weight | ko |

6-¢ 10.3328 %,
25]

6-¢ 1853,
34HETIX2IE

BEERSE
ECMA CX0807

SR60-Az-4(f& JJ-FA-408)-MB
[ 28 [weignt | ko |

BEERSE




HARDY

5053# S60-FA610 1BAREIENTIZE

Facing Spindle Head Unit-Servo Type

RAE Model S60-A2-4
R=ER Max. RPM 1200
57 Horsepower 2HPx4P
T Spindle Pulley 8M-60T
Fahah Spindle Bearing gggﬁ ; g;ﬂéﬁ
USSR R PR i Bearing of Ballscrew Bearing Block 7204x2
R AR 7 S Seal of Ballscrew Bearing Block TC26-42-8x2
R R 5 Bearing of Facing Head 7204x4
RJJEER Single-Slide Facing Head Model FA-610
RIEEBREE T Facing Head Slider Stroke 10 mm

Slider Self-Repeatability: =0.005mm (FBJJ33FEEEEN)

Roundness: =0.003mm

S60-A2-4(EJ]-FA-610)

| 28 [ weight |

kgl

4-¢ 1858,
M20x2. 5 403%

6-¢ 10.3§H28F .
o

M12x1. 7525

BEERSE
ECMA CX0807

S60-A2-4(RJJ-FA-610)-MB

4-¢ 18§38,
M20x2.5LF40iF

[ =8 [ weignt |

kgl

SEEESE
ECMA CX0807




5054% SR60-FA610 1BAREIEN7I5E

Facing Spindle Head Unit-Servo Type

RE Model SR60-A2-4
R=ER Max. RPM 1200
57 Horsepower 2HPx4P
T Spindle Pulley 8M-60T
FEha Spindle Bearing géggﬁ ; g;ﬂéﬁ
USSR A PR i Bearing of Ballscrew Bearing Block 7204x2
R AR S Seal of Ballscrew Bearing Block TC26-42-8x2
R R 5 Bearing of Facing Head 7204x4
R/JEE Single-Slide Facing Head Model FA-610
RIEEBREE T Facing Head Slider Stroke 10 mm

Slider Self-Repeatability: =0.005mm (FBJJ33REEEEN)

Roundness: =0.003mm

SR60-A2-4(EJ]-FA-610)

| 22 [ weignt |

kgl

T
£
g
E
L]

6-¢ 10.3528F,
M12x1. 75 25:%

6-¢ 183iE,
b 3AHEHXIR

BEEEFE
ECMA CX0807

SR60-A2-4(2J]-FA-610)-MB

[ =8 [ weight |

kgl

6-¢ 18iHiE,
¢ 34tEHIX2IR

SEERSE
ECMA CX0807




HARDY

5055# S80-FAS812 1BARE/IE)7I58

Facing Spindle Head Unit-Servo Type

R Model S80-A2-5
R=ER Max. RPM 800
57 Horsepower 3HPx4P
FHNE R Spindle Pulley 8M-60T
Fahaf Spindle Bearing 32216x2 [ 6216Zx2
U AT o i Bearing of Ballscrew Bearing Block 7205x2
IR AR B S EE S E] Seal of Ballscrew Bearing Block TC30-50-10x2
F T B R A Bearing of Facing Head 7204x4
RJJ1EER Single-Slide Facing Head Model FA-812
BJJSE B T Facing Head Slider Stroke 12 mm

Roundness: =0.003mm

Slider Self-Repeatability: =0.005mm (FB/J32REEEEN)

S80-A2-5(FEJ]-FA-812)

4-¢ 10.3§H30;F,
M12x1. 7554 25:%

| 28 [ weight |

kgl

$ 1438

2-¢ 14iH351%,
M16x28LF 307

BEFRFE
ECMA E11310

S80-A2-5(f&JJ-FA-812)-MB

[ =8 [ weignt |

kgl

4-¢ 1758

BEGRSE
ECMA E11310




5056# SR80-FAS12 18iRE/IEN7]5E

Facing Spindle Head Unit-Servo Type

R Model SR80-A2-5
R=ER Max. RPM 800
57 Horsepower 3HPx4P
FHNE R Spindle Pulley 8M-60T
o Spindle Bearing 32216%2 / 6216Zx2
U AT o i Bearing of Ballscrew Bearing Block 7205x2
IR AR B RS E] Seal of Ballscrew Bearing Block TC30-50-10x2
F T B R A Bearing of Facing Head 7204x4
RJEER Single-Slide Facing Head Model FA-812
BJJSE B T Facing Head Slider Stroke 12 mm

Roundness: =0.003mm

Slider Self-Repeatability: =0.005mm (FB/J32REEEEN)

SR80-A2-5(f&J]-FA-812)

| 22 [ weignt |

kgl

|
b= 20%5% ‘
|

6-¢ 187838,
3L 5F

4-¢ 10.3iE30%,
M12x1. 75 F25:%

2-¢ 145H35:F
M16x2IF30%

BEERSE
ECMA E11310

290

SR80-A2-5(f&/]-FA-812)-MB

[ =8 [ weight |

kgl

6-¢ 185,
34t HXL5R

3HPx4P

BEERESE
ECMA E11310

l:'h-




HARDY

5057# S80-FD&80  15iREIED7I88

Facing Spindle Head Unit-Servo Type

R Model S80-A2-5 S80H-A2-5
R=ER Max. RPM 1200 2500
57 Horsepower 3HPx4P
g Spindle Pulley 8M-60T
Fahaf Spindle Bearing 32216x2 / 6216Zx2 7216x4
SR ATR B 7 i Bearing of Ballscrew Bearing Block 7205x2
IR AR B A RS E] Seal of Ballscrew Bearing Block TC30-50-10x2
F T B R A Bearing of Facing Head 7204x4
RJJEER Double-Slide Facing Head Model FD-880
RIEEBREE T Facing Head Slider Stroke 80 mm

Roundness: =0.003mm

Slider Self-Repeatability: =0.005mm (FB/J33REEEEN)

S80-A2-5(f JJ-FD-880)

| 28 [ weight |

kgl

4-¢ 10.3730% .
M12x1 75 B F25:

2-¢ 148035,
M16x2F30R

SEFRSE
ECMA E11310

S80-A2-5(f& JJ-FD-880)-MB

[ =8 [ weignt |

kgl

AEERSE
ECMA E11310




5058# SR80-FD88(0 1ikEJIEN7I%E

Facing Spindle Head Unit-Servo Type

R Model SR80-A2-5 SR80H-A2-5
R=ER Max. RPM 1200 2500
57 Horsepower 3HPx4P
i) Spindle Pulley 8M-60T
Fahah Spindle Bearing 32216x2 / 6216Zx2 7216x4
SR ATR B 7 i Bearing of Ballscrew Bearing Block 7205x2
IR AR B RS E] Seal of Ballscrew Bearing Block TC30-50-10x2
F T B R A Bearing of Facing Head 7204x4
RJJEER Double-Slide Facing Head Model FD-880
RIEEBREE T Facing Head Slider Stroke 80 mm

Roundness: =0.003mm
Slider Self-Repeatability: =0.005mm (FBJJ33REEEEN)

SR80-A2-5(f J)-FD-880)
[ 28 [weight | ko |

4-¢ 10.3#30%F,
M12x1.75BUF 25 %

2-¢ 14335F
M16x2IF30%

SEARSE
ECMA E11310

SR80-A2-5(f /J-FD-880)-MB
[ 28 [weignt | ko |

6-¢ 185,
b 34HEHIXL 5

BEERSE
ECMA E11310

l:'h-




HARDY

5059# SC55-BT4() 1ESA=EHER / RENFITIEL

Boring / Milling Head Unit / with Unclamping Cylinder

% Model SC55-BT40 | SC55H-BT40
T Spindle BT40
R iEiR Max. RPM 2000 6000
. X
oz o
BHEE Roundness Within 0.003mmP
=AEN] Max. Power Within 3 HP
ivas Rising Temperature Within 20°C A

SC55-BT40-MF
[ =2 | weignt | 83kg |

4-$ 8 58201,
M10x1 SICF15IR

45 190 M18x2 5IF A0

4-¢ 1558438,

4-$10 3§25,
M12x1. 7510 F20iF

2HPx4P.

! 100 | 64.3 | 394

887

SC55-BT40-MB
[ =2 [ weignt [ s3kg |

4-$ 8.5§E20F,
M10x1.5BF15E /11 H

4-$ 15 538,
M18x2. 5K 40F

4-¢10.3§8251%,
M12x1. 75120

447




5060# SCS55-BT40 1EshE#aE / BEIRENFT/JEL

Boring / Milling Head Unit / with Unclamping Cylinder

% Model SCS55-BT40 | SCS55H-BT40
i Spindle BT40
R iEiR Max. RPM 2000 6000
g e
HEE Roundness Within 0.003mm P
RAENT] Max. Power Within 3 HP
ibar Rising Temperature Within 20°C /3

SCS55-BT40-MF
| =2 | weight| kg |

4- 915588,
M18x2. 5IEF40F

4- 8 520},
M10x1. 5 F15R

4-9 103325, .
M12x1. 758 20i% pl-icapaia
45T-13

SRR T TDELfEFE)
il

SCS55-BT40-MB
| 58 |Weight| kg |

4- 8588207,
M10x1 5BEF15F 2HPx4P

4-$10.3iH257F,
M12x1.75KF 20

SRAEE] (SIS AOHMES] DAL ER)
EiGS: I=iohid




HARDY

5061# SC80-BT50 #EsAEEMER / REHIJEL

Boring / Milling Head Unit / with Unclamping Cylinder

% Model SC80-BT50 | SC80H-BT50
i Spindle BT50
ReIBE Max. RPM 1200 3000
PR Bearing ggiégig 7216x4
HEE Roundness Within 0.003mm
RAENT] Max. Power Within 7.5 HP I3
ibar Rising Temperature Within 20°C A

SC80-BT50-MF

[ =2 | weight |

kg

4- ¢ 14830%,
M16x2IF 25i%

110+0.01
|

| 4-$103H25R,
M12x1. 758 F20F

145 ! 54 |

1092.5

SC80-BT50-MB

[ =8 [ weignt |

4-P1478307F,
M16x2IF25R

4-¢ 10.3§257R,
M12x1 75IF20i%




———"'

5062# SCS80-BT50 1EshE#EE / FBEIRENFT/JEL

Boring / Milling Head Unit / with Unclamping Cylinder

R Model SCS80-BT50 | SCS80H-BT50
i Spindle BT50
ReIBE Max. RPM 1200 3000
PR Bearing ggiégig 7216x4
HEE Roundness Within 0.003mmMA
RAENT] Max. Power Within 7.5 HP
ibas Rising Temperature Within 20°C A

SCS80-BT50-MF

| =2 | weight| kg |

494.5

illgﬂsf%ﬁ?ﬁ&ﬂﬂﬂ@?ﬁ)
IS EHTT

4-¢ 143H30F,
M16x2BI 257

4-¢ 10. 38257,
M12x1. 7555203

547

SEBEF] TIEL

6T-17

SCS80-BT50-MB

| 58 |Weight| kg |

4945

SRERE(FRISERER T DEL(EF)
S =T

4-9 10325,
M12x1. 75 BF20i%

4-¢ 1455303,
M16x2IF25:F

11040.01

|-




5063% BERE

Synchronous Clamp

o A _MELRE - MITRER °

REEIIER U REBNE  TEEBE -
SRFHEE - HENRTE -

It's a CRANK type 2-jaw synchronous clamp with long jaw stroke.

Construction of high rigidity and high clamping accuracy.

Matching surfaces of all parts hardened, ground and lubricated directly.

W1
. == | - .
— 1 —
@ | oS 1
it ==
Tl L oo
== T (==
8~L ‘ U 2~0§ H7
v HEI
u1
| G |
‘ R M| ON EEEHI
- Q 6 P, P 2x3~K [
| .
| T e S
— & HEE B ]
| & - @ "o}
| |
h |
c 2 = i
T IA S, == !
REIRB SR | ] | 2PTVA BT, I
Subject to technical changes. Pressure port
1% Spec.| SEZEERE Eff. piston area_cm’ | [TYFAE (B1E) mm | BASKIFEE) mm | SANE kN(kgf) | BSERE Mpa (kgficm?) | S8 kg
AUEE Model. 1| Extend #IfAl Retract Jaw strock (Dia.) | Clamping capacity | Max. Clamping force Max. Pressure Weight
CP-20 28.27 25.13 20 150 16.2(1650) 9.5
CP-30A 28.27 25.13 30 180 17.7(1800) 11
CP-30 28.27 25.13 30 210 17.7(1800) 3.5 (35) 12
*CP-40 28.27 25.13 40 200 14.7(1500) 12
CP-50 38.48 33.57 50 215 20.3(2070) 18.5
*CP-70 50.26 45.35 70 235 26.9(2742) 30
5 Vo deT_-h‘f 25 I B B1 € D |Ewy | F [0 c —— H H1 J RET ) K L
CP-20 215 88 96 53 40 18 4 249 229 75 13 94 76 83.5 M10x1.5 M10
CP-30A 250 88 96 58] 40 18 4 295 265 75 13 94 76 96 M10x1.5 M10
CP-30 280 88 96 53 40 22 4 327 297 75 13 94 76 96 M12x1.75 M10
*CP-40 270 88 96 53 40 22 4 331 291 75 13 94 76 110 M12x1.75 M10
CP-50 300 110 115 65 50 28 5 369 319 90 15 105 - 120 M12x1.75 M10
*CP-70 346 120 126 89 55 32 5] 430 360 114 i) 115 - 146 M14x2 M12
5 o df’f Size| N P Q R s T u | ur | v | v wo| wi | w2 | x Y z
CP-20 12 M6x1 18 20 66 24 22 102 190 60 156 32 110 65 150 22 4
CP-30A 14 M6x1 20 24 96 24 22 102 190 60 156 20 120 65 156 22 6
CP-30 14 M6x1 20 24 98 24 22 102 190 60 156 23 110 65 156 22 6
*CP-40 14 M6x1 20 24 98 24 22 102 190 60 156 25 110 65 150 22 10.5
M8x1.25 21 30 10
M8x1.25 23 34 23.5




50647 LERRJIEERE

Double-Slide Facing Head

2
z
i
!
=
B
=
o
B
i
B
&
)
a
n
B
bt
q

TE o ERRE R TIZAVEE
BIFEES -

REEIIE O RAGZIRE » BINER AN IFERES -

o ENFEE : +0.03mm

¢ Feed mechanism is transmitted by Crank or Wedge Plunger,with steady feed
speed. Simple adjustment for feed speed and stroke.

Matching surfaces of all parts hardened,ground and lubricated directly. With
Rigidity and durability.

e Stopper accuracy : +0.03mm

n BTIREN OIS MR I S AC R -

= Suitable for using with RS type cylinder.

9
G. N 5
P H_ 3
gt M
> t —
K
P n S
H 4x2~T Q g g[glgl B E% é
ﬂ I Im “
S
K -2y
) B
<| o LIJ] — é ) 8TIXIE
s \ isa =
J |e L2 M Q 3
_EE ™ Dt ? o,
— Ll o
o \‘\ - @HE
24
RrE
S -}g/
B
LY
FD-632  -mimsm @amEEn v
ED-840 CRANK TYPE (Able to match hydraulic transmission)
FD-880 * &5z ¢51FEE) WEDGE PLUNGER
. FD-1060 EaERED
1%53*%@1%&&’91&*“ Able to match servo transmission
Subject to technical changes.
. = - - - Reid B AR - S B
715 Spec| iz (@) mm Bz @@ mm|  TEEER | BXERER | g, SRR SRR
5 Plunger stroke (Dia.) | Slider stroke (Dia.) IR, mm/min. Weight Matching cylinder ax. ressurze
EU5R Model. Max. speed Max. feed speed Mpa (kgf/lcm?)
FD-632 20 32 3200 300 13.6 RS-1030N 2.4 (24)
FD-840 25 40 2500 240 30.0 RS-1030N 3.0 (30)
FD-1060 35 60 1800 200 41.5 RS-1040N 3.0 (30)
% Size G
HUER Model. a 2 Sty 2 = & max. min. i d X
FD-632 168 93 140 104.8 32 76 31 11 2 36 M16x2.0
FD-840 215 109 170 133.4 38 96.5 325 7.5 2 36 M20x2.5
FD-1060 254 123 220 171.4 38 110.5 32.5 -2.5 4 36 M20x2.5
% Size
FIEE Model L M N P Q R S} T U \ W(H8) Y
FD-632 6~M10x75 188 70 40 25 10 32 M8x15 10 32 6 4
FD-840 6~M12x85 238 90 60 42 12 45 M10x15 12 45 10 6
FD-1060 6~M16x125 286 90 65 46 15 50 M10x15 12 50 10 6
381% Spec. ENTFE mm BT (BEE) mm| B5EEH min'(rp.m) | BEPHERTIHE kgf | B8 kg B HETL
EUSRE Model: Plunger stroke (Dia.) | Slider stroke (Dia.) Max. speed Max D.B. pull kg.m* Weight Matching cylinder
*FD-880 48 80 2500 1050 0.081 17.0 RS-1030N
i Size G
AT Model. R} 2 S, e = > max. min. i d X
*FD-880 200 85 150 175 44 32 58 10 1 10 M16x1.5
% Size
RUZE Modal: LH7) M N P Q R S T U Vv w X(H7)
*FD-880 18 32 70 6 16.2 20 87.5 64 36 102 12~M10 10

L CRIBEBHEEZIRR - MIBEHM - Model produced only by order.
e |




5065# BHEEE

Single-Slide Facing Head

o EfRIBRELEFRERNENENEIRE - EiGE

HUFRRRIFE
o BENEISHEIRLRIEEIRE

a5 -

o ENFEE : +0.03mm

¢ Feed mechanism is transmitted by Rack and Pinion or Wedge Plunger,with
steady feed speed. Simple adjustment for feed speed and stroke.

e Matching surfaces of all parts hardened,ground and lubricated directly. With
Rigidity and durability.

e Stopper accuracy : £0.03mm

n BRTIEERY OIS BRI S AC R -

= Suitable for using with RS type cylinder.

AT AL IF R RS -

EIETE » iEhai

IRE TR

Max.26

7 7. @ 24
Mzl el e ﬁ
TH— © o] [[& = i ]
30 1c1 -t 1apmexio 8y S| | K —m M'
i I 4:/ gé @$ ?@’ T T
' | ¢
R Oo~t 44 ¢ g MHA o sgar - n—g
3| < [l N
e @] & & N FER = ¢ ~
8 H F e - X
M12x1.75 A B | 1
4 LIL S p.cd 70.6 Reallncy 1 y =4
FA-408 585 4~M10x60 10H7 B ell LEHJ
SRNRNEY (TR SHENEREE) 69 36
WEDGE PLUNGER B
(Able to match hydraulic or servo transmission) @ BaERES
6_%“/* Able to match servo transmission
Q R
|
1 N ﬁ L ' :
K I T:E 1 s
ol L - @% .
Hole I M- \
I } | @ \% P
) T Lo @
L/E
T
FA-615 FA-610 spzt@Es @as
D P BRI Ee A EREE)
. FA-830 EnREEEImEE) (RS HESE) i WEDGE PLUNGER
REBISAB IS RAVIER B RACK and PINION . . FA-812 (Able to match servo transmission)
Subject to technical changes. FA-1570 (Able to match hydraulic transmission)
. RAERR — —— X
AR SPec| 52 (@) mm | FBEETTZ (B mm | SEQBH mn'(pm) | TSR | g EEEEL | S CHEs)
Plunger stroke (Dia.)| Slider stroke (Dia.) Max. speed LY Weight Matching cylinder Mo Press”ie
A5 Model. i i Max. feed speed Mpa (kgf/cm?)
FA-408 14 8 1600 400 4.2 RS-6520N 1.0(10)
FA-615 15 15 1200 300 11.9 RS-6520N 1.2(12)
FA-830 30 30 800 240 23.9 RS-6530N 1.8(18)
*FA-1570 70 70 500 120 167 RS-1080N 2.6(26)
#81% Spec. EITFE mm JBEEITAE mm B EEH min(r.p.m) | SEEHETIHET kof | EE kg B HETL
HUSRE Model: Plunger stroke (Dia.) Slider stroke Max. speed Max D.B. pull kg.m” Weight Matching cylinder
*FA-610 18 10 1200 280 0.04 14.5 RS-6520N
*FA-812 21 12 800 450 0.14 28.5 RS-6520N
7% Size G
A | B |C D | E |F H | J K L M N P R|{S|T|U|V (W
HUSR Model. G “ [max. | min, Q
FA-615 150/107| 110 [102| 5 | 25 | 40 | 25 | 35 | 20 | M12x1.75 | 3~M10x40 | 12 | 8~M8x16 [82.6/50 |32 |32 |68 | - |+7.5|56
FA-830 198|126| 140 |[121| 6 | 30 | 52 | 22 | 45| 25 M16x2 6~M10x55 | 15 |12~M10x20|120| 60 | 36 | 40 | 80 [120|+15| 66
*FA-1570 400|200 300 [192| 6 | 60 [ 110 | 40 | 75| 50 | M30x3.5 | 6~M20x90 | 15 | 8~M16x20 | 235(120| 80 [130({260| - |[£17.5] -
3% Size G R
A | B |C D | E |F - H | J K L M N P S T(U
AU5% Model. G M0 [max [ min. Q (H7)
*FA-610 156|110 140 |107| 5 | 20 | 66 | 48 | +5 | 20 | M12x1.75 | 4~M10x90 | 12 | 2~M10x45 |104.8| 28 | 10 | 4~M10x16 |40 |40
*FA-812 198|130| 170 [127| 5 | 25 | 84 | 63 | +6 | 25 M16x2 | 4~M12x105| 12 | 2~M12x60 |133.4| 32 | 10 | 4~M10x16 |50 | 50

‘;i'.l!.iii

—

,IlrtlB

>




5066# 1IiEiRmHIEEEEHERT]

Rotating Hydraulic Cylinder With Stroke Control

S8 S - (JIEPEHI LRI HEREL -
BIETVGIERRR - 1TERRE S - U HERELIERE(FE) -
ZRFURRIHEELS -

For short form, high speed and stroke control.

To ensure safe power chuck operations by conforming movement of the cyliner.

Can screw it from the rear end of the cylinder when mounting.
BRIVEEHUSEBECIMERE  UHRELSRE -

e The drain port should be independently connected to oil tank to avoid back

pressure.

125

8,
© '€ . 8 o
2x2~M5x0.8
wl ylalo
Ry 4 ‘ PT1/4
78 ﬁ : % Oil drain port )
7J 2-PT3/8  [131(R8200N:134.5) [~ 4 G
A B DR %l Pressure port ]
REBIRIBIECRIER)
Subject to technical changes.
STIEFRIE ¢
Proximity sensor : Model TLx-12NO2E1-C(KFPS) DC 12~24V 200mA NPN
J81% Spec.| EZEMEIE Eff. piston area cm® | 4552 mm |®=5888 mm’(r.p.m) B=EEE Mpa GD? kg-cn? EEky | g
AU5% Model. (8| Extend #1118 Retract | Jaw strock Max. speed Max. Pressure (kgf/cm?) Moment of inertia Weight
RS-6520N 32.0 28.3 20 0.01 3.2
RS-6530N 32.0 28.3 30 0.01 3.3
RS-75N 43.0 37.1 15 6000 0.01 3.3
RS-7530N 43.0 37.1 30 0.013 3.7
4.0 (40)
RS-100N 77.4 715 20 0.04 4.8
RS-125N 121.6 113.1 25 0.05 7.3
RS-150N 178.6 160.8 30 5500 0.16 10.6
RS-200N 313.0 290.4 35 0.29 15.9
s S A B (& D1 D2 |Enn| F ¢ H J K L L1 L2 (Mne) | U
AU5E Model. max. | min.
RS-6520N 65 20 97 80 80 60 25 45 25 | 62| 193 M16x2.0 6~M8x16 M6x70 145 | 17 30
RS-6530N 65 30 97 80 80 60 25 45 15 | 62 | 203 M16x2.0 6~M8x16 M6x80 14.5 | 17 30
RS-75N 75 15 | 107 | 90 90 65 30 45 30 | 57 | 188 M20x2.5 6~M8x16 M8x60 12 21 35
RS-7530N 75 30 | 107 | 90 90 65 30 45 15 | 72 | 203 M20x2.5 6~M8x16 M8x75 12 21 35!
RS-100N 100 | 20 | 132 | 115 | 100 | 80 30 45 25 [ 72| 203 M20x2.5 6~M10%20 M8x75 12 21 35
RS-125N 125 | 25 | 160 | 140 | 130 | 110 | 35 50 25 | 82 | 213 M24x3.0 6~M12x20 M8x85 12 25
RS-150N 150 | 30 | 190 | 170 | 130 | 110 | 45 55 25 | 95| 226 M30x%3.5 12~M12x24 M10x100 16 31
RS-200N 200 | 35 | 245 | 220 | 145 | 120 | 55 75 35 |115(249.5 M36x4.0 12~M16x30 M10x125 21 37




HE IS 7T

Hydraulic Rotary Valve

LT (Fe EREZHETFEE DR -
IR BHERFIARRET - (BT MIBETIEC0iEE) » BAERMA -
Rotary valve is used for clamping cylinder on rotary table.

Through unique design, it can make the rotary housing be rotated light force,
and is from oil leaking.

I 75— » [EIRFIEHIFSRENE -
O 2R 508 - DD RIFERIFZEENE -
I Type is a single circuit which controls the clamping.

I Type is a double circuit which separately controls the clamping.
RVEINRYRRISLECE B U EBEZCIMEE - UBRELSE -
The drain port of RV type should be independently connected to oil tank to

avoid back pressure.

4~M8 2x4~PT1/4

/ gui  [RRmil 4-M8x11

Screw hole / Distributing port

i
o
@
TRTAYAT:
N

PT1/4
i 3L

Drain port

t
'EE' \ 2(4)~PT1/4
5|[12 415 |25 18 # 3 3L
1 | ]
136 Pressure port I I

REBIRIBISCURVIER!
Subject to technical changes.

A% Model DA Distributing = fEFHE 7] Max. Pressure =& Weight

RV-31H @) (SJETRY) 4 (by order) 40 kgf/cm? 7.4 kgs

DA

Air Rotary Valve

4~

M8 2x4~PT1/4

#2430 AR AIL
Screw hole Distributing port  2~M8x11

)

0115
@30 h7

-

R =
A 18

Subject to technical changes.

'£‘ 2(4)~PT1/4
5||12| a7s | 25 18| H#AA
o ' ' Pressure port
125 -
{REBFRIRIENAIER

#U5E Model

i1 Distributing

BRofEFHET] Max. Pressure

=2 Weight

RV-A31H

PO (7578 4 (by order)

8 kgflcm?

4.8 kgs




50

68#

VRS S
yasl-| I&

Oi51EEE

Coolant Rotating Joint

o SIEY - SBRNASANRDIEREE -

o RERLLIKFAERBIES S RIEZIDE A - MBFREITIFE -

e Coolant joint for high speed, high pressure and medium delivery.
e Usable for oil and water-soluble coolant.

e Seal bushing inside is made of cemented carbide and ceramics, which
provide higher wear-resistance.

o RIS BB - FB7EE -
e The joint should not run without liquid.

PT1/4(IN)
M16x1.5 LH =5

\ N

$50
$32
|

B

H ;

26 g3
\ PTL/8(DR) °2
20 9.5‘ 10| 2 |8
R | BBES | oo | BE 5
Model kgiem2 | FEFE | \yeight 30 53 30
RJ-50 30 3500 RPM | 0.4 kg 13
3
2 5/8-18UNF-LH =5
~ 9 (BXM16x1.5-LH)ZESF
F e
1 BH. ©
L . &)
¢ o s
PTL/4(IN) 20 T 12 5 =
21/ 65
A8 BEB] | =ms: = ‘
=g ] 122
Model kg/cm? RREE Weight /
RJ-80 60 | 8000 RPM | 0.5kg PT18(OR)
[{e]
PTL/4(IN) o
o
3 M16x1.5LH
©
. o8
PP = T
s T2
il ) 19
24 PT1/8(DR) 5
R REB] | owga: £ 16 69 12| 20
Model kg/cm? BREE Weight
RJ-90 70 10000 RPM| 0.5 kg




